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46pin[1] 2=, EXNPUSEM R

=0
oIt E SESE EAIS

oA LEX|A dupsly} 82 1831 £A7HA = ololr| Sk g AaalaU ) a2y o)At

718 7| R Eo| = otubal/shZolt 241 7|5 7S Aul 7|8 ol e} 21 oH 2)S SalE}
= E4 7]159] A5Ut [Backspacel, [Enter] 7] 50| tfi4 oA Q. =7} 31H F719] 3HA|
2 7| R0 271ER] B3 &2t E4 EASE Qe ek o s} QB 2a) g8 A

AR g9l A= BEEUTH

O ThEA ARARE] e 918, vho e s 2R S T BEAlE .

O O]AA|0| ZXE: N\

Bt 572t 42l ofd V%S Yk 715 1ash] ), 229 TEeMe\ JlER
AR BF 23S ARSI T 0|2 Sof goj|A] oju] EIA|TE ‘EHLY) 7)15-8 \n B2}
24 23591, [Enter] 7] 43S thshct.

print('B0| 1 MAKP\nZIRHRL')  #\n=FHH 27

: ’m oMot BH X Hello, Python!
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62p E. 'AIZ 0 & HAKl 27|
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JIE A= GiAL

J
I

2)29] 2158 o LISHENIAC)O] A HTHE AHS 73k, 1FE 0] Wy B o] Beh
S49] Aptoleks HE 47 olsiE 4 9 UL 18 BHE, A4 AALe el glof ue-
Aol 2e) e AT Tol W WA R BAR A Qb B8] BAITH Qut A4
9} BFI7HA) 2 shol Mo A2 Sl Tet AL 8 4 5y,

B 017(0 HAlSls AESS IDLEOIA Aasls &1, FIE LESOR AMSHT ELICt 0| #e FIE LESOR

H#E AnS HIEo 2 MEFELICL

O Apx[GHL
g 2AE Fe o 2 2T, AR THOPAOfIA] 401i= 7|2 At 1AtAt
AHRE ARSI LT Tho] e 7] AH CHAIR} Moy Aoz
AMALE +, -, *, / 7|55 AR 9] + | O3 b+l 10
= YNk Ak AARRpel F Yk, QoA RE] - | wp b4 2
A = s, 7], F6t7], U7 1dych x| Zap bx4 2%
- LI=7[(a4H Ol 6/4 1.5
2.E% 3ol 1Lk oje] 4H AAHAE A i
Elel FAE . LHe7|(gotite, 4 | 6//4 1
A TR 1Y
1 sro] Mo A AAZ HAato] o]@ A o] =
# LIOX] 6%4 2
A=A AW EZSFUT T 1He] wighs
w | 7SHE 3xx2 9

A2 SojA Holx g,




type(1)
type(1.0)
type(2+3j)
type('abc")
type (0x1234)
type(True);

SN—

ool 7)& XHEE 0flA|

76p In[1] 2=, True A4t

2T °of ofaje} ;

ZuJ3 LEZol phrjeke) ;2 4)

'

Bh2Rke) gz g anguck

;2 eledsnE 512, 3

2130 #9)uick. Rl2d Out -‘::%-01 1]-,,_

1) globs Du,r%\,»m.

«) Zz
'{ai'i'% 2E2hE,

INEEL OflAl

FL8(nt) 1,2,-1,-2, 02} 20|, 2470| gl= R X2
A& (float) 1.2, 2.5, 1.4E122 20|, 2pH0| UALE X|=57t U= X| Xt2
2248 (complex) 2+3], 1+2J 9 20|, MpHO 5|87t = | XHg
ZAI A (str) ‘OHESIMIR’, ‘14479t 20|, B HEE SN At
E3(bool) True, False®} Z0|, & L= AHXIZ LIELH= Xt&2
Xl X2
A S AL
A Ae
4R e 107, 87,167, 20 A4 2@ S FYTh
[ 1n [2]: ] .
123 #123 107 &= 27I%, BRI, 1671 =>
00123 #83 8 &<(octal) 25 0izl!
0x123 #291, 16X &=(hexa) OIELR M xi2| = B
0b10110101; #181, 27 &=(binary) R PR
ArE ARME £ 2 HL7T A=A FsUth et 22 30729 o= AES]
FEgUH
- [0 wore 2opixt 71z eiatnt iz
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119p mo[Me| "M, BHx} 27|

X - —
& fite 1M1 21 ()

L{O[40i|= O| AE] Of| L(Easter egg)7 | SILE AGLICE O|AH O 22t T2 207 220 SHE T

A2 7|53 2I0[RILICE THOPMO M thisE import SHH, THO|M Z=02H0| F415h= Hets

L

2|5l =2 JHLX} B TE{A(Tim Peters)2| {The Zen of Python(Zfo42| Mi#)»0 (2t A|7} ZSE/L|CY 0|

AIE 8 I 90|E MA B E2SLICE

import this

The Zen of Python, by Tim Peters

Beautiful is better than ugly.

Explicit is better than implicit.

Simple is better than complex.

Complex is better than complicated.

Flat is better than nested.

Sparse is better than dense.

Readability counts.

Special cases aren't special enough to break the rules.

Although practicality beats purity.

Errors should never pass silently.

Unless explicitly silenced.

In the face of ambiguity, refuse the temptation to guess.

There should be one-- and preferably only one --obvious way to do it.
Although that way may not be obvious at first unless you're Dutch.
Now is better than never.

Although never is often better than *right* now.

If the implementation is hard to explain, it's a bad idea.

If the implementation is easy to explain, it may be a good idea.

Namespaces are one honking great idea -- let's do more of those!

SES 10 D0oM s 7], 28 -
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148pIn[7] ZE. WAE B|AE 213 9|8t 221 F8f (1)

Bl AE 9| ZH(e )L AAEA MF 7Hetmutable) @), LIn] = ¥ 2]

S 5 E|AEQ| QAE F{0fj MK
Ayt 7RO QEZo] WA 3 Y, B WA 245 MAR A S ke A
E| MEf5i2i® 842 AIS
A] nofl A T Huth BHLICH
Ofl: L 2|AE0fAf 2l Foj
UE 5E £33t HCHH
L[e] = 100 # X eimf g}t #12(1-100) L[-112 XH
L
[100, 2, 3, 4, 5]

Q49] A= del-S o] 8T

del L[0O] # X Bl 244(100) &

Setol 4 & o 83N 77 L5 AR S Atk

del L[2:] #12, 3 4 5]0]A 281 &= 0| &I %A

(2, 3]

2| AE0M HME AR5} |

YA oA, V)2 ARFAY HAEE B8 5 U,

SUTH ALg Al Theat 2

30
i

ZAEO|Z. HIME(24)

PJAE HhA|uo] 2 48 F7}5kelH append() HIAEE ALSFIC

. ’ TOJME Cf LORZIRE_ &5} Qb 58t Xtz
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154pIn[21] 2=, B 0[E#A:t T

Input In [20]
t2=(12)

A

SyntaxError: invalid syntax. Perhaps you forgot a comma?
| FEL TRt ol PAE] §Y] Yel2 gol AU

: [('one', 1), ('two', 2), ('three', 3)]

o
)

mutable), H7J 5} SPA, TypeError”| EHAYSI T}

t[0] = 100 # QLOlIA Eol5t EZO| 1 QAE 10092 HIZ AlE

TypeError Traceback (most recent call last) o 2E AEHE 1= 4

Input In [22], in <cell line: 1>() AIRAS 018 / B s ol
1t=() E2 518 6iE / IR K
2t=(1,23)

----> 3 t[0] = 100

TypeError: 'tuple’ object does not support item assignment =2 Jjzsjo) ¢ 2o} ubafolcy,

uebA FE2 MsHA e TlolHE Edhs 852 2 AREM, Aol HdE WA

Zhat 21 ATt @ A A= count() HAELY,

t= (1, 2, 3) #EStxEo
#E

t.count(3) Z otofl Y= Q4 39| Hf=?

=

224 A= ol F= index() HIA =7} 1 ol duch

ook

- [T wore of oboixt alst otstat =gt xiz
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167p In[25] ZE, WA
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dAE[1, 2, 3, 4, 5, 3, 4, 5]& setQ WA= YlHY, {1, 2, 3, 4, 5}2t= HEo] &

SUT o ¥A B AL, MRS FH 24T 51850 @] BRI,
I o]71 ofBkR? BAY HELLO'Y] BAES o] 8] 4 47} TE T WFHE FH3)

A, == AR S vl ws] BRE Y

{IEI’ lHl’ |L|’ |O|} —— {IHl’ IEI, ILI’ lol}

st MM HE IR0 it

md'
>
1l
ot
2
>
l-ﬂ
mlm

2718 44, AASHE W7 o]

B AEL APA T} np A 2
hs st The [5 AR |

A={1, 2, 3, 4, 5}

add() WA =R W Aol 9 108 F7Kg

A.add(10)

1,2 3 4, 5 10}
discard() WA =& A3F Ao)A G4 1S WHUT}

A.discard(1)
A

LES L EEXEHEQ) -
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215pIn[11] 2=, 2X} £3 : LookupErrorError — LookupError

class : oPdS BafAclic, wro)aild

pass 223} sWdojap) <HE2k aﬂﬁl—

A4

okt o glojs igHAoil o3} 202

=T

2} Blg olou) b3}

class BadPasswordError(LookupError): olie |
20

pass A2 ez oldygeck

Z12{'H LookupError o}2jj¢f BadUserNameError, BadPasswordError = 719] Q] FeiA7} A4

Ut o] 2K AL} |92 471 B 4 YU

LookupError
I: BadUserNameError
BadPasswordError
ollgli= A AT R raise & o] &3] WAYAY S UL, E except & 0| &3
=

Uk,

o
rkﬂ

9]
o}

é

o
o
]
)
il
30,
iA)?

A
T

try:
raise BadUserNameError
except BadUserNameError:

print('...")

AT

D f‘atxt’ OfUEZ 0{= open(aixt) EHAS 435}

2{1 SH|CL. FileNotFoundError QF7} eilsh= A
2 open(b.ixt) 8 MH#SHEES try...except £XE 0|2510] T35l HM[2.

(D  0i3{£0| Holsh= AFRX He| 0|22 aHE 1, raise®} except 22 E5M 0|22 XElsH M.

LES 17 Hoi22| ofsl (2)_2F CHA2t ofelx2|=
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234pIn[10] ZE. FHZ} =2 28212l F2t (acc)

acc®] 2714k 100t} 25 T3l A, 30] ace R4l A= AFHTE 22 A 0= 5714 SAlE 3

acc = 0

acc = acc + 1 #0+1
acc = acc + 2 #1+2
acc = acc + 3 #3+3
acc = acc + 4 #6+4
acc = acc + 5 #10+5
acc #accgl=2?

15

o] ZEE for F& o] 834 ThA] E&F| BAZU

acc = 0
for i in range(1, 6): #IiE 152E| 571X Bt

acc = acc + i

15

oAl B 2 WSl o FAE A 4= AFUT T2 158 1000704 2] Flakdy .

acc = 0
for i in range(1, 1000+1):  #iE 12E 10007(X] BHs

acc = acc + i

500500
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349pIn[37] ZE. HIME 27 3 : m.groups() > m.group()

NW

?aliM= 20| =X b=Ct Oloj w2t 222 MAIE 27t QST

Zof gof wketa) T e 3 Fol, o
shyloletel S7) g 5ol U A7 ©7 YU sub() T4:01 4 Bl A SO None

Z QYA L

m.groups)= F 1E9 njHH ExgS &
o

3 Wloll AR o] M2, of F4 $2 ol BAjel Qolo) BiE MEE BY 4

def f(m):
t = |m.group( # OfE =l 2X1E EZ toff Cifstof
if t[o]: # X Biny 3t=(21EA 0)0 ZXHstEH SHAF
return '<hanja>{}</hanja>'.format(t[0])
else: # 24 B gf=0] ZA{5HX] 2 H(=None) &0/
return '<eng>{}</eng>'.format(t[1])
return t
s = 'HIVE thed| cDNAE transfectionsiMe 20| =[X| 94=Ct. Olof w2} HREFSENSE H
HE vector?Zt ZQsILt. !
re.sub(' ([—#E]+) | ([a-zA-Z]+)', f, s)

‘<eng>HIV</eng>E= Cth43| <eng>cDNA</eng>Z <eng>transfection</eng>siA= Z+240| Z|X|

OH=C}. 0|0f| 2} <hanja>3#tBEEERK </hanja> 22 M7=l <eng>vector</eng>7t HQ3ICt!

ool = L ZAZ HYH EAL S| -5 AW HIA Ut Rt H the £l A

=1

2 o] 55 3L, A 7|9 <person></person>0|2h= B 1S 0] HZl5U T

'OFE olME THollM Lot E2 LIZHELICH. !

= '<person>0f&</person>t <person>0lA</person>= TOM LI 2 LIZHSLICH. '

L ES_27 Fr4
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403pIn[14] A=, A &2 st A= WA

ufeba] & FH O 2 AL ATHH transpose() WA =2 DataFrame®] 3} &G-S YT o],

df.transpose()

=]
-

ulot

|
25

L0
l5ts

name Z

phone 010-1234-5678 010-T777-8888

total_price 38000 23000
due_date 2021.05.21 2021.05.21
address ZE7|Z T4 B BHEA

Aoz w4 QlsuTh

d = df.transpose().to_dict()
d

{0: {'name": 'EZZ,
‘phone’: '010-1234-5678;,
‘total_price": 38000,
'due_date '2021.05.21,
‘address’: 'A7|E TFEA|},
1: {'name" ‘84z,
‘phone’: '010-7777-8888',
‘total_price: 23000,
'due_date '2021.05.21,
‘address’: ‘A7 2HAI}

>
)
i
Bkl
et
rid
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m
2
it
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(2l
)
=)
<14

list(df.transpose().to_dict().values())
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